& 2% elA DE//BC ©]1 aADE —
48em? & W), ODBCE 9] §ol S Tatoler,




2. o= I™AM A G7FaABC FASHLE W, a+b+c+d S @<

“FobH?
A
<b- /3 F
B ~.. M // \4/1)
Th12--
@ 15 @ 10 ©) 20 @ 50 ® 30



3. & HYPAPHY ABCD o)A APCD = 30cm? ], AP:PD=2:3
o|t}, DABCP 9] yo]=?

A P D

@ 60cm? @ T70cm? @ 80cm?

@ 90cm? 3 100cm?2



4. o
o, 1% 17} 540rem?® 2HaL jtr}, &9 R uE 46

lleS

TR S R R 5ol 1A R0l S B A
o

a},



o2 284 H D, E & 242 AB, AC 9
Zxolth, AADE = 20cm? ¥ o, AABC
o] gol?

@ 40cm? @ 60cm?

® 80cm? @ 100cm?

B 120cm?

vs)

Q



the 793 22 ZXHzFE ABCD o)Al
A E 9t F 7} 247 BC, CD 9| 34
27} PQECF 9] Hol|&?

@ 10cm? @ 15cm?

® 20cm? @ 25cm?

3 30cm?




7. t= 2" H G A G2 A4 aAABC9F AABG O] FAIFA
t}. AD =9cm ¥ o, GG’ 9] ZHo]=?

@ 2cm @ 2.5cm ® 3cm

@ 3.5cm 3 4.5cm



th-S T3]3} o] Yol AL A5 H o]

=a ot

YES 2o s Este o, A7l=

Al JA=ES 2t A, B, C & 5t2k Al
JA =Y A B,C o] Frjo] v]E?

@ 1:4:9 @ 1:3:5

@ 1:8:27 @ 1:7:19

® 1:6:21



S I A7 ABC 9 A A oA HlH BC of ¥
Ao S D 2kl & o], AABD, aCAD, ACBA 9] Wo| 9] H]=?

D 1:2:3 @ 2:4:9 ® 3:5:7



10.

F-& AAEA V- ABC of|A Z+z+e]
D, E F = ]L]-h uﬂl:ﬂ og X]—EHLH

AABC 9] Hlo]7} 48cm? ¥ off, 412t
Axols Tajeler.

cm




]_

o

AFE ABCD 9 of

o

3l

';)6

=]

-

ol

FP
CF

@ EP
@ AE

AHDP
ACFP
ACPD

@ AGBP
® AAEP
B AAPD



12.

O] Aol H|7}3: 191 §E ko] 7% A, B7FQIth B 11
S 1A A IS 75 A9 2 WS motof ort?



13.

¥ ABCD °l|A  E,F

ZHo|tt. mABCD ¢

OEPFQ ©] Wol& 7

L\

B

A E D

F

X/

A\

C



14. i% 1H-& AD//BC ¢l Atthe]&oltt,
AD//MN AM:MB =2:1°]1 AAOD =
24cm? & o, oPBCQ 9] Ho|=?

@ 40cm? @ %cm2
@ 42cm? @ % cm?

B 72 cm?



15. & "4 ADE AABC 9] 4o, A G, G2 ZHF AABC ¢}
AGBC 9] BAIZAo|th, GG’ = 6cm ¥ ], AD 9] Ao]=?

D 15cm ® 18cm 3 21cm @ 24cm B 27cm



